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Study of Home Science is most important for
(1) School children (2) Bazaar

(3) Society (4) Government
ﬁwﬁﬁwmﬁ—ﬁaﬁa{waﬁr—m@%?
(1) P wet ¥ R @ @R ¥ f

() @i % g @) @K % R

In Early years what name was given o Home Science 7
(1) Domestic Science (2) Household Science

(3) Household Economics 4 Al abové
grifes @t ¥ Te-Rrem @ feE W ¥ S S A ?
(1) NEw T o '(2) mtfaﬂ'u‘s e

() TREETE FRME 4 wﬂaa_aﬂ

Which one of the following is an individual contact teaching method ?

| (1) Home Visit (2) Poster,,

P ¥ A A e T R E? o esfe

(1) =X W "k @) WX
(3) wF . @ EC(IEE ]
#)WoiResuLTE
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The rooms in privatél :;-I:c;ne of a house are —
(1) Kitchen-Varanda

(2) Bed-room, Study room

(3) Drawing room

(4) Garden-Varanda

W& Pl & A 9 Wy A ¥

(1) vERER-=mE

2 = By, = wu

(3) A B |

5 Home Science is a field of knowledge and service primarily concerned
with — '

(1) Strengthening family e

(2) Empowering women

(3) Empowering women and children
(4)  Strengthening society | | |
To-Tmm™ w9 9 Q9 @ aa% wife Jer o9 ¥ el ¥ -

) wRatE fe @ T e

) =Rl B wwEr T A

(3) wieemek qur W= H Wy T H

(@) W B gl T ¥ |

Q’QlNDlRESULTE
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6 The following is an audio visual aid - C;'a !NPJLB E§ Hl‘:‘:?ﬁ

(1) Telephone (2) Song

(3) Drama (4) Flip Book
fr & § @l O, 39 g wnnl ¥7

(1) TR () T

3) g - @ fwu g&

7  Rickets results due to deficiency of -
(1) Calcium - () Vitamin D'
(3) Calcium and Vitamin D' (4) Hormone
Prdeg Roaat & ¥ UROW wow B ¥ 7
(1) i @ FeRm @
) Hfemm w@ fafm < @ s

8  Animal protein source is better than vegetable protein source because it
contains — '

(1) More Proteins
(2) More Amino Acids
" (3) Better balanced Proteins

(4) Better balanced Amino Acids |

o TN de, TRt 99T W ¥ S oR, Y, TR v b -
1) ot s

() ofym onfFl aw

() s dgia e

@) oo gf oot s
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Beri-Beri is caused due to deficiency of —

(1) Riboflavin (2) Niacin
(3) Thiamin () Biotin
T[T W Rowt o F waw ko

(1) TEwaRe @ fefe
3) awfi @) wEéT

vitamin 'K'? -
(1) Blood Transfusion (2) Blood Coagulation
(3) Blood Regulation (4) Blood Circulation

Fra % & dmr wo Rl F % od ¥ R ol i
(1) o woF § 2 WG Y

(3) T fpiEm § 4) @ duem ¥y

11 Which of the following Amino Acid is essential for human ?

(1) Methionine | (@) Sering

() Tyrosine (4) Cystein

B & & Sl o v & Ry v 3

() fRrifm 2 =

ORE L@ ﬁ%w
(#moiResuLTa
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Which of the following statement js correct about the function of
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12 The sweetness of milk is due to presence of —

(1) Lactose (2) Casein
(3) Lipase .(4) Riboflavin
gaﬁﬁaqﬁwﬁ&%aaﬁwﬁaﬁr%ﬁ?ﬁ%?
(1) W @ e

(3) vt ) R

13 Protein percentage (gm) in §oyab9an is —
(1) 10-15 (2) 20-25
(3) 30-35 (4) 4045
HEEE ¥ WA R wfreeer (mn ¥ oo
(1) 10-15 @ 20-25

() 30-35 (4) 40-45

14 As per 2010 RDA daily additional energy and protein requirement during
pregnancy is as follows —

(1) 300 keal, 15 gm (2 350 kcal%__30 gm

(3) 350 keal, 23 gm | (4) 300']écagp 30 gn
2010@A%Wwﬁﬁw%m%%ﬁwﬁﬁr%aﬁwﬁﬂwmﬁﬁaﬁ
oY ¥ - W

(1) 300 Po.deid, 15 o () 350 Rrderl, 30 7

(3) 350 fE.werl, 23 W | (4 300 f5.%T9, 30 7w
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The sugar present in fruit is called —
(1) Glucose | (2) Sucrose
(3) Fructose - (4) Lactose
wal § w99 ARl ohU HEdRl & -
(1) S @) T

(¢) WA 4w

- The storage fonn of glucose in the body is —

(1) Glycerol @) Glycogen
() Galactose | @ Glucagon

MR & @ @ G o ¥ -

(1) P | (2) TeigHST

(3) TR @) TEEEE

Which of the following is the constituent of rhodopsin ?

(1) Vitamin A ) Calcium
COEuE g

(3) Vitamin D (4) Iron
Y -

Prer ¥ % den Gt @ e b 7

(1) Tt A _ ) ‘aaf‘@mq
3) fefm D . (4) W% q
(#)WoiResuLTs
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18 Which of the following food protein is considered as a reference protein ?'.;_ )
(1) Milk (2) Egg
(3) Mution | (4) Puise
ﬁwﬁéﬁﬂﬁﬁwﬂﬁmﬁﬁuﬁawm@r% ?
() 7= ) v

3) mw 4 o9

19 The first step of management process is —
(1) Directio-n (2) Planning
(3) Checking (4) Control
T AR @ oy wwer & -
(1) Tdm ) e
(3) g €)) fr‘maur

20 The bank account which carries no interest is —
(1) Savings account (2) Current account
(3) Fixed account | 4) Recurdng_gleposit account

e &% o W e ww T R e -

(1) =@ wmr @) =% @
() Rrwg wm @ omEd S wmE
| 2 INDIRESULTE
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§21  Basic colour is —

(1) Red, Green, Yellow (2) Red, Green, Blue

(3) Red, Biue, Yellow | (4) Purple, Red? Green
"Wl T od -

(1) ww, &, dwr (2) ww, T, W

() wa, e, G - @ Frh, W, 'w

22 In which year the consumer protection act was implemented ?

(1) 1985 (2) 1988

() 1986 | (4) 1950 !

s |

ST W o R ad A g 7 |

.:'5 (1) 1985 () 1988 H
(3) 1986 @ 199 | _'

23  Material resources consists of durable goods and — i
(1) Money (2) Skills and abilities :
(3) Human én‘éfgy (4) Time |

W At § a3, R A ag o -

' 1N T (2) IO T @
ECS3 A] @!'}!PJBQHHE [ Contd..
| |
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() Money income @) Real income
B)  Psychic income (4)  Physical income
%ﬁﬁ&wmﬁvﬁmﬁa@aﬁaﬂtweﬁwm, LI
@) TR g |

@) 15t May
(3) 15t Marc_:h “4) 8§1 March
R s sy e s oy ¢ _

M 24 smae @ 1w

() 15 gg§ (4) 8 4rf

@ gy
B) w#nte = @
o' gq-{-
scssa,  (@)NDIRESULTE
10
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F.P.O. is used on which standardised products ?

(1) Textiles (2) Building Material -
3) Electronic Goods (4) Food Products
. & . T v R T e b 2
(1) & w @ "W T W@ e w
f"' (3) TuwRIE wwEw W @) wm w1
% 28 Decision making process is influenced by —
(1) Goals and values (2) Standard of ﬁﬁng.
() Housing conditions (4) Family members
frofg o= AN whew = vl w3 & -
1) w@ @& g™ (2) W "eT @ WY
@) o Refy @) hEr ¥ T

29 What do you mean by 'cash equivalents' ?
(1) Bank Balance
(2) Short term highly liquid securities
(3) Investments in commodities
(4) Investments in. debentures
T TG ¥ o W e 7
(1) = 7 oo, af
(2) owmafE Seey o whrfl
() =g ¥ fafrd

@) = 93 F e /'. _
@INDIRESULTE
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S
i
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30 The time period when many activities are performed silmdtaneousl\jv_ .

called - -
|-

(1) Rest period (2) Peak load

(3) Work plan (4) Work area

TE w9 AR S FE THR A RfRE e g o e ¥, owe ey d -
(1) fasm @ sty (2) @ER @ fimex
@) @ e | @ = dm

31 The maximum effect of fashion and trends is seen in —
(1) Childr.en (2) Elderly
(3) Men 4) Youth
By o e @1 waifus weg 3 ¥ e www ¥ -
(1) =i @ 7= A
() T @) gaed A

32 The property of fiber to come back to its original length is called —

(1) Blasticity " @) Flammibility
@) Lustre (4) Pliabifi§"

’tﬁasrasgw%mﬁazmﬁt@‘ﬁr{m%#ﬁéﬁtm%—
(1) weEmemy e @) e

@) W @) o

BCss A (#)NDiReSULTE L Conte
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'/ Worsted fabric is prepared from — ~

(1) Short woollen fibers 2) Long woollen fibers
(3) Short cotton fibers (4) Long cotton fibers
T T R PR v & -
M WFAWMET o) o ek
(3)@%#1!{%”{31}'% 4 w9 39w ¥ W Q
ﬁ{? 34 In the carbonising process the woollen fibre is cleansed with
j (1) NaOH @) stq'
’ (3) * Hot water | @) Soap
BRI B ¥ o Yol @ qud www o o & o
| (1) NaOH Wity TEEEEE (2) H,80, wawrfis ufys
f 3) i ury 4 g |

35  The diameter of rayon fiber depends on —
(1) Raw material - (2) Colloidal solution
() Holes of spinneret ) sbeed of drawing fiber
A I SR
() &= ¥l w (2) wieEsw Hw g
@) R & Rt v @ W @ Wy w
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Out of the following, this is called Javelle water —
(1) Potassium permanganate (2) Sodium perborate )
(3) Sodium bisulfite (4) Sodium hypochloride
Frfifed % & @ AW weX Fw ¥ -

08 trefirm i | (2) wfeo TERe

(3) Wi IEETHES (4) wRan TEUwRES

The traditional embroidery of Bengal is —
(1) Phulkari (2) Chikankari
(3) Kantha ~ (4) Kashida

TMA B Tl werE ¥ -

(1) gpaed ' (2) T

(3) @i ' @ s

The state which is famous for Patola —
(1) Rajasthan (2) Gujarat
(3) Bihar - ' (4) Uttar Pradesh

Wy S w2 & g whee ¥ -

(1) TSEH 2) T=
() fEr . (4) SO W
# WoiresuLTe

EC53 A] 14 [ Contd...




BTy T T e Yy e e
'.-""""-"fj‘_".‘?;."."_'_'fa,.-,.':'.r"ﬁ T e e e, T S

alcohol ig —

(D) Rayon (2) Polyester

() Nylon 4) Polyurethane

40 The fiber that burns with a smell of burning of hairs is —
(1)  Wool (2) Linen
(3) Rayon 4) Nylon
ag?igrrﬂm?rwwmﬁrhﬁﬁaém%—
O = 2 e
G) & @)
41

Tatting is type of =

1) Braiding ..y .. 2) Weaving
(3)  Felting “4) Knitging

WY, @ www Ay -

(1) 3R @ e

O e @ P
BCs A FoiREsuLTE
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42 'Grain' line of fabric represents —
(1) Direction of fiber in cloth’
(2) Direction of yam in cloth
(3) Direction of seivedge in cloth
(4) Area of cloth
A B oad ¥ -
(1) »® # qg @ R
(2) wae ¥ um & R
) @R ¥ Y W fw

(4) HIR B HABA

43 Growth refers to changes in an individual.

(1) Quantitative

(2) Qualitative
(3) Quantitative and Qualitafive
(4) Subjective |
@ e ¥ g @ AR e A E
(1) AEIHS |
@ TwE
(3) WEIEE SR T
@) s

ECS3 A] @lNDlRESULTE - [Contd.
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" 'Cognitive Development' means development ..of .

(1) Sense organs
(2) Muscles and nerves
(3) Changes in thought and intelligence

(4) Creative skills

R S - % Pmm R h
‘ @3) TR aw ¥fz ¥ diads

(4) GeEawEn e

45 'Special education' means —
(1) Educating in a rural environment
(2) Educating in a public schot_)l
(3) Educating old people at home

(4) Educating exceptional children

fasr fvem @1 o & -

(1) e oAy ¥ e wom s
() dfem T § B wem s
(3) = B W W Fiew woT B

(4) Tafdre et # Rem el wmen

EC53 A] | C:?/.‘j {NDIRESULTE . [Contd... |
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46 Development is. influgncedsby = ..+ iy
(1) Heredity
(2) Environment
(3) Heredity and _Environment (both) |
(4) Neither Heredity nor Environment |
R T d ¥
(1) dmgen @ “
() aEE ¥ | B
(@) T AWgET § ol W A @

47 Brialle script' is used to educate

(1) Deaf and Dumb children.

(2) Blind children
(3) Learning Disabled children

(4) Children with low intelligence

@ R @ oSEm . fmm ¥ @ 3
() 9% 9 ] s

(@) heaim <=

@) e A

¢y w=gfs I

./ - ) .
BCs3.A) (#NoigEsULTE Cont.
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‘ he _ period is the "Time of the:Empty Nest'.'% INDIRESULTE
(1) Adolescence (@) Middle Age
(3) Late chiidhood @) Old Age
(1) TrstrERan (2 qwxamt i
(3) U eI (4) gamER N | o
| |

The concept of 'Devglopmental task' was given. by —

(1) Hurlock (2) Gesell

(3) Havighurst ) Paviov

ii fyerraed & w1 Yo R o - |
j @) g @ e o 1
50 ‘Cophalocaudal development' means development from —

(1) General to specific . (2) Specific to General

(3) Head to foot (4 Central body to extremitics

el e o P & g ¥

1) wAw & fafiee W@t sk (@) ffime ¥ aEm W ek

® @ o R @ e A R

i

ssssssssssssss
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51 At the time of birth Newborn baby's average height is — ‘

indiresult.in whatsapp - 9352018749 ({:/j |ND|RESULTE

(1) 17 to 21 inches (2) 19 to 24 inches

(3) 11 to 17 inches -(4) 27 to 29 inches
e iy W oW & wrw olwe Sl o & -
) 17 % 217 | @ 1939 24"

3 1717 4) 27929

52 | The period of 'storm and stress' is —
(1) Infancy (2) Early childhood
(3) Adolescence (4) Adulthood

| R T w w

(1) shoaraar - (2) yHawREET
(3) PryirT | 4) gaEw

53  Ability to adapt one's behaviour according to other is the result of —
(1) Social development (2) Motor development

(3) Emotional development {(4) Cognitive development

T T AR WG ¥ WER W e B sww ol -

(1) wmivwe fwem () T faew @
@) vEem faww d ) dfew fww @
#moiResuLTs
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Life span Development begins and ' ends: with =

(1) Birth, Death (2) Conception, old age
(3) Infancy, old age {(4) Conception, deﬁth
s O% few @ wE gura e ¥ -

(1) ==, g | () R, FEER

() fvEEE, gEEE (4) wfERw, g

Disability in reading is called —

(1) Hemophilia (2) Dyslexia
() Aphasia | (4) Dysgraphia
oY W s A T |
(1) T (2) Gl
(3) Tk : (4 R

The systém of education that is sometimes called the residence of organized
learning out side the formal system is called —

(1) Adult education (2) Adult continuing education

(3) Non-formal education (4) Continuing education

firem 1 1 Rk et sl i & e a1 o FE E -
(1) ¥ e (2) e wwa fem

3) ﬂTGﬁWﬁﬁiﬁTﬁT. (4) aa T

YOUR SUCCESS PARTNER
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(1) Combination of Individual and Mass contact methods
(2) Individual contact methods
(3) Mass contact methods
(4) Group contact method
¥ Raw amife wom ¥ -
(1) =fre wd oW guh Rafel & e
) =R g fafy
(3) M dus Rty
@ g dvh fufy

58 A demonstration where worth of an improved practice whose success has
already been established is demonstrated is known as —

(1) result demonstration

(2) front line demonstration

(3) method demonstration

(4) field demonstration

o T west et W Rt 7w A DA B aqwEn s €, R
TEAT USW o UREl W gl ¥, e ¥ -

(1) ufom we=

(2) vwem i weat
@) Tty wes= |
(@) & vasiw

kcs3 A #WoigesuLTe {Conta.
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: f /'Speaker - speech — Audience' model of communication was given by ~
(1) Aristotle () Westley
(3) Bero (4) Mciean

FE—HYI-AGT Bl TR B Aed ey @ fear T &0

1) I (@) Feed

@3) @ i
Rural Television Experiment Pfogram' was started in -
(1) 1967 . @ 1968
| @) 1969 @ 1970

‘Ww&h%@rﬁaﬂm’ﬁwaﬁﬁﬂagwm ?
(1) 1967 | 2) 1968

(3) 1969 @) 1970

61 A fixed curriculum for testing is followed in ~ .

(1) Extension Education ) Non formal Education
(3) Informal Education (4) Formal Education
ﬁwﬁqﬁaﬁﬁ@rhﬁm%ﬁm%mgmwmwm.
o g7
(O fEr e | (2) ot fren
() ofwfe fn (4 drafeE fwen

EC53 A] C:?/_‘j I%DIRES ULTE [ Contd...



indiresult.in whatsapp - 9352018749

62

63

/.1
@lNDlREsuLTE

RRRRRRRRRRRRRRRRRR

Maximum number of flash card can be had

M 20 - 22 (2 15-20
@) 6-38 @ 10 - 12
ﬁaraﬂéﬁﬂﬂlm_é@T%‘rW%~ '
1 20 - 22 (2 15 - 20 | o
(3) 6-38 | (.4)- 10 - 12

i

The ﬁrst university to start degree program 'ih Home Science vig —
¢y Madrés Universit_y

(2) Delhi University

3) M. s, University Baroda

(4) Punjab University

wﬁﬁﬁm%ﬁmqﬁﬁ-ﬁwﬁmﬁﬂﬁ m‘qﬁﬁmm;

e R Fafamg

(2) st frvaferer

3 W w Frvaieme (g

(4)_ RE[C R CET) Crsiont
.é‘
@INDIRESULTE
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al Development in Sha_nti Niketan was Sta]_'ted by _/ YOUR SUCCESS PARTHNER

(1) Ravindra Nath Tagore (2) Mahatma Gandhi

(3) Indira Gandhi (4) Jawahar Lal Nehru
A i 3w R B a g R T g
) = TE TR (@) wEwE T

(3) sk T (4)@@1‘6[@%‘6.

65 Which one of the following an example of traditional folk media in India ?

(1) Ram Leela _ (2) News Paper

(3) Television @) Radio
frr X ¥ A, eh MU W AR @ ST §7
| (1) T e : (2) HEER |

(3) %rr?ﬂ%m (@) Y=

66 Inglividual who are the first to adapt a new fechnique are called —
. (1) Laggards (2) Early adapters
@) Tnnovators @) Barly majority |
3w, o Bt TR Ao W w T wd o w57
(1) fee & - @) fw T

(3) eEruE @) s FEEs

| b3 A) C:'//_‘j INRIRESULTH [Contd...
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6 The red colour of meat is dye to presence of —

(1) Myoglobin (2) Hemoglobin
() Myosin (@) Actin
ﬁawmﬁﬁw.ﬁﬁmmﬁm%?
(1) AErefes ()

G) RS (@) uRew

68 The correct age for infroducing weaning food to an infant is —

(1) 3 month "~ (@ 6 month

3) 'é month 4) 12 month
wﬂmﬁmmﬁﬁﬂammﬁaﬁm%-

(1) 3 ufem | @ 6w _
3) 9 W= @ 1zw 1

69 The emulsifying agent found in food is —
- (1)  Gluten (2) Trypsin
(3) Lecithin (4) Caffein

mwﬁﬁwwﬁwwﬁ!ﬂW%—

Q) = 2) fewdm
(3) iR . @ Ffe
@#moirEsuLT
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he isoelectric point of milk js —

1) 6.6

2) 5.6
B3) 4.6 @ 5.2
/,r T B smeRfEy frg ¥
*”g (1)‘ 6.6 @ 56
'F (3) 4.6 4) 5.2
h% 71 Ansemia caused by Vitamin B, deficiency is —
(1) Megaloblastic (2)  Pemicious
! (3) Sickle cell (4)  Microcytic
J| W%Blzﬁw&ﬁ%maﬁmé’mmmm%-
(1) Freiesmfes @) ﬁﬁm
@) dwa qw | ) "EHERRs

72 Daily requirement of iron for Indian women ag per 2010 RDA is -

RORES! mg @) 35 mg
©) 17 mg (4) 26 mg

U% WRHE 7w # RDA 2010 3 Wmmﬁaaﬁmw%_
M2 ﬁm (2) 35 Bpg
@ 17 P (4) 26 frm
—_ (#)NDIRESULTE
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73 Absorption of carotene requires following nutrent in diet — Iﬂ'-‘-
(1) Fat
(2) Protein
() Carbohydrate

(4) Vitamin D

74 Which of these ig 2 good cholesterol fraction ?
(1) Low Density lipoprotein cholesterol

(2) Very Low Density Lipopfotein

() High Density. Lipoprotein

() Triglycerides
ﬁrrﬁﬁa?ﬁmwaﬁqﬂﬁé@aam%?
1) #% W& v e

(2) T w7 HH TSI

G) w= R W
@) EhmEwey .
| INDIRESULTE
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(i) Eeg

(i) Leafy Vegetable
(iii) Liver

(iv) Milk

Code :

0 Gv) G) () @)
@ i) @ 3@ (@)
@) G (@ v O
@G Gy v G

‘indiresult.in whatsapp - 9352018749- ('/://IND”:!ESULTE
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& "'A:range the following foods in ascending order of their iron content -

mmwﬁﬁmmﬁwﬁwmmﬁ

e w¢ -

() e

(i) TR et
(iti) TP

(iv) g&

% :

1 v G @ (i)
@ @) O (@) (@)
() @) @ v @
@ @ @) () Gi)

BCs3 ] 6 ) NPIRESULTE
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76 Which of the following is plant proteinase ? v

(1) Pepsin (2) Trypsin
(3) Urease (4) Papain
Foa & @ @b ety siddw & 7

(D e @) ﬁ-’trf%ﬁ
@) Thom @ ﬁﬂ#.

77  Which of the following is a sulphur containing amino acid ?

(1) Lysine | (2) Methionine
(3) Phenylalanine (4) Valine
Fer & B we g ol o %2

(1) wrEfw @ Rl
) RemgwmRfe ) =

.78 The Japanese art of flower arrangement is called —

(1) Ikebana . (2) Origami
(3) Manchurian (4) Haiku
IS T H A ww S m?r ¥ -
(1) shaT @) offindy
(3) ATgfEw (4) w3y
EC53_A] C:?/g !Np=|53%§9!"‘1:g [ Contd...
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7 / " The following are warm colouts =0 A s s
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YOUR SUCCESS PARTNER

(1) Yellow, orange (2) Blue, green
@) Grey, white 4)  Purple, red
Pt wf o a3 ¥ - | |

(1) O, | @) i, oz

G) 9, T o @ &, o

(1) Increases . . (2) Decreases

(3) Remains the same

(1) Tz 2 @) "= ¢

@) auE e : @ P5 T A w1 g

Which of the following substance when accumulated in the muscles restits

81

in fatigue ?

(1) i.actic Acid (2) Glucose

(3) Glycogen ' (@)  Cholestero

ﬁwﬁrﬁgﬁaaﬁwmq‘h&wa@ﬁ%wmaﬁ% :

M) Wew oww @ -

@) WeEww - ) =REw
@opesure

EC53 A]
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82 A tax whose burden is bome by the person on whom it is levié“g :
\:“.'- .

(1) Indirect Tax (2) Regressive Tax

L
*
W

(3) Direct Tax (4) Progressive Tax

ﬁﬂamw.maﬁaﬁﬁwq@m%fmwwaﬂww%f

Hewl ¥ -
(1) omEy &Y - (2) wRFmY wY
() w@E &Y ' (4) withdw =%

83  Moulded fumiture can easily be made by —
(1) Iron A (2) Plastic
(3) Stainless steel 4) Wood
o W W TR ¥ w w wmd
M ?h% T ) wfes @
G) dwma (4) wES §

84  Which is the best type of kitchen ?
1) U shape (2) One walled
(3) Two walled (4) L shape

Wﬁﬁ%mﬁw%?

(D 9 swrR & 2 ‘@ R
() U WK TE @) ‘T AR @
ECS3 A| [ Contd...
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(1) Blue (@ Red

(3) Yellow {4) Green

RRRRRRRRRRRRRRRRRR

*&;s Which colour reflects maximum light when used on the walls of the
§ /  toom -

mﬁﬁﬁaﬁwmmﬁﬁﬁ#m%wmwﬁwmﬁm%?

(1) ~ren ) wm
(3) (@) wu

86 The hardest stone is —

(1) Sand stone (2) Granite
(3) Lime Stone (@) Slate
A HOR TR ¥ -

(1) 9 v@x (@ FmEE

(3) T ey 4 we

87 Market is a place where the following process takes place —

(1) Buying (2) Selling

(3) Buying and selling both (4) Distribution

Wazwa%aﬁﬁww%mﬁaﬁr%—_

(1) wdeard . @ R
G) wheard ¥ e & (4) Ty
Bcss.a] () NorEsULTE
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88 One of ‘-the‘f:b'a"sic.-prin“ciples*"-'oteaégigﬁ-_-.is ki
(1) Balance (2) Colour
(3) Line - (4) Shape
BREE LR S — G ¢ - )
(1) dgem 2
3) @ (“4) e
89  ‘Burning off of fiber ends when 2 fabric is to have smooth surface
is called — '

(1) Desizing (2) Singeing
3) Bleaching

€y Scouring
Wi & B (R ﬁwﬁ_ﬁiwﬁ_ﬁwm T &
(1) fanhin @ fifsin
@) frem

90 The transparency combined with permanent stiffening is achieved by —

(1) Mercerizing (2) Delustering
3) Ammoniating @ Parc_hmentiznhg

mwmmaswawﬁwm%.m%f

() werRin & @ fowefr gy
® e & @ ehin 4
EC53 A] C:?/.‘j INDIRESULTH
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The stitch used to hold several layers of fabrics rather than seam is
called —

(1) Even basting (2) Diagonal basting
(3) Slip basting (4) Pin basting
y frend % <oma, @ F A wE T BT W @t B R 2w o
M @3) R <@ @ P e
| 92 The lines that indicate movement' are —
i (1) Vertical lines . (2) Diagonal lines
(3) Horizontal lines (4) Curved lines
5 @S W e avil ¥ - |
(1) =& e | @ T En
() IR @ @ W% @

93  Which type of designs of the world run internationally ?
(1) Street fashion (2) Mass market

(3) Designer wear (4) Haute couture Houses
from @t fow wR # feoreT oo @R T weRE AR ¥ 7
(1) u== w1 %A Q) T TER

@A) %mﬁﬂ LESIGH . (4) TR P TeEw

YOUR SUCCESS PARTNER
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95

96
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(1)  French seam (2) Lapped seam

(3) Flat fell seam (4) Mock french seam

(1) %= R 2 =
G) wR b fymr (4)'11‘1%%'?:1%1@.‘

Fashion is not affected by consuniers -

(1) Age () Willingness to pay
G) TIncome @) Caste |
el S e S ¥

(1) u @) T g @ gy
(3) emg () iy

The filling of weft thread in clogh making process is called .

(I)  Shedding (2) Picking
(3) Battening (4)  Tacking
Wﬁ?ﬁﬁmﬁaﬁﬁwﬁaﬁmﬂﬁ—
1) e - @ ffe

@) A @) W

RRRRRRRRRRRRRRRRR
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(1) Plain weave

(2) Satin weave

(3) Twill weave - (4) Pile weave

%WWWWWWWQ@WW%;
(1) 9l g

@ i gTE

@) foaw g @ wEe FE

= 98 A coarse yarn will have yarn count between —

¥ 1 10- 12 @ 10 - 20

' () 15 - 2 | @ 20 - 30

T GG () a ¥ e a von o
1) 10-12 (2)‘ 10 - 20 -
@) 15 -2 @ 20-3 __ N

9 Salt s added in dyeing for
(1) Absorption () Exhaustion |
() Solubility @ Al of the above - R
T ¥ T s wmy d -
1) sEsivwa & fim @) T % R
G yEdlem & frg @) swe
o, @morresuure
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108 Primary emotions are —

(1) Joy, Anger

(2) Pride, Sadness
(3) Shame, Guilt

(4} Guilt, Jealousy
W d@aT ¥ —

ORR- S

2 HE, 3w

@) s, iy

(4) vy, degt

101 Adolescence is a period of —
(1) Heightened Emotionality
(2) Determination of social responsibilities
(3) Social isolation
NG Dependency
fepeTRrareen qwl omfy ¥ -
R .
(2) wrfe SaEReEt @ faky
() el s

@ wEERET .
C{/OINDIRESULTE
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/ _;[02 Down syndrome' is g type of —

(/‘ indiresult.in whatsapp - 9352018749

(1) Eating Disorder
(2) Sleeping Disorder
(3) Chromosomal abnormality

(4)  Behavioural problem
ST R w orer w3,
M) R |

@ W () wh R

G) TR AT

[ —

103 The training policies and programmes for the rehabilit
disabilities is regulated by -

(1) F.C 1L
2 RCL
3 FRLCCIL

@ B.C.CL

RRRRRRRRRRRRRRRRRR

ation of persons with

ﬁ:ﬂmﬁ%ﬂaﬁaﬁuﬁﬁmﬁﬁﬁ&ﬁﬁﬁﬂﬁhﬁm%—.

(D s & o,
@ o @ e,
@) uE owd W @ o
@ &« R A e .
ECS3 A @mmmsuua
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164 An educationaj prﬁcess that aimg at brinpi
' towards family gjye is -

(I}  Sex Education
(2)  Women's Education
3) Population Education

“) Psychology Education

NORE Sy
@) aRe B e
) R R
@) TR o oy

105 Who started the 'kix-ldergarten' System ?
(1) M. K. Gandpi
(2) Maria Montessori
3 L1 Roussean
(4)  Freidrich Frogpe
L e e o T gy
O @ F qig
@ Rar wrey
CI R A e
@) %= vy

ECS3 A ]
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107

108

-(3) Group marriage

RRRRRRRRRRRRRRRRRR

(1) Rabindranath Tagore

(2) Tarabai Modak

(3) Mohandas Karamchand Gandhi -

(4) Gijubhai Badheks _
aﬁaiﬂrmwnrvﬁ—mﬁ.gaa%eﬁ ?

(1) =g Ty

@ T s

@) eRW weER T

@) Rrospmd i

A major agent for transmitting culture js —

(1) Society (2)  School -
() Community (4)  Family
Bl & o @ T aRE ¥ - |
(1) w9 | ()
G) wgEm . @ var

When a woman -marries two or more men, the marriage is termed ag —
(1 Polyandry #)) Polygamy

(4) Religious marriage

0 0 fae @ @ o e
G) wites fyar 4 uitle ReeE
ECS3 A | " [ Contd...
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109 The facility of vaccination is dope on which centre 9

(1) Aanganwag; (2) Balwadi

(3) Creche 4 Nursery schoo]
= B Awmrr R SF T P 37

D o T () I awy

® wmE @ T

110 Biological, €Conomic, Protective, educational, social, Tecreational, affectiona]
etc. are functiong of —

(1) Marriage @ Comumunity
() Family @ Society
CaC I |

(1) fras % 2) wEm ¥
®) war % @ wm

(D Comparing individuals of various age at the same ftime
@)  Continued observation of the same individual

(3) Careful description by the researcher

ECs3 A ] o 42 [Contd...
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- 2 The kind of communication between the villagers and different agencies

is shown by —

(1) Mobility map (2) Ranking

(3) Transect _ (4) Venn Diagram .
i au Rt Yot % wer W ¥y @ S s ¥ -
(1) iashean -=em T 2 & B9 T

(3) T T @ ¥ R oEm

Give the sequential order of the symptoms of vitamin A deficiency —
(i) Night blindness

(i) Keratinization

(ii1) Xerophthalmia

(iv) Keratomalacia

Code :

1) @) @) v @

2 O @ @) (i)

@ @O G @)

4 @ i) (@) (@)

Refm @ & #0 & aaf = ' v ¥ waikaa SRR -
(i) T

(i) HEF

(iii) Privdafmm

(v) HCHAATET

F H

(1 Gy @) v @

2y @ G) G@Gv) (i)

Gy O G G (v

@ () Gi) ) Gv)

YOUR SUCCESS PARTHNER
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114 The cormrect Sequence for ‘estimation of crude fibre :
() Drying and weighing of fiber
(ii) Weighing and defatting of ground sample
(i) Digestion with 1.25% NaOH and ﬁltratitm
(iv) Digestion with 1.25% H,S80, and filtration
que : |
M@ G @) )
@) @ ) (v (iii)
G O @ Gi) G
@O G ) Gy
T W F AT H R wd &
O N B garn 7 qom B
(ii) ﬁ%gﬁ#@éwﬁmamm_

(i) 1.25%/NaOH @ wamy 5 BT

(V) 1.25% H,S0, & wamm 4 wrmy

%‘_’ :

W G G @ g

@ O @ o i

® O G )

@ O G G g

%, INDIRESULTE
@jnorsesus
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upper arm is —
(1) Horizontal and cloge to the body

(2)  Vertical and close to the body

| /{f’ (3) Horizontal to the work surface

(4) Very close to the body

e minia e Ty
TRy o v

Eﬁiﬁeﬂtmﬁ_%mmﬂwmww@?ﬁ%maﬂﬁ
_ ¥ ST W R - |
(1) W @R W ¥ @ a
@) v R R ¥ wm d
B) »H W ¥ wmEw @
@) WX & 57 Fo w
116 The study of various aspects of man in working environment is ~
(1) Body Mechanics (2) Work simplification
(3) Work physiology (4) Work Ergonomics
mwﬁﬁw@ﬁr&wmﬁwﬁmiw%é
() wife ity @) W wrlwo
G) Wl rlreghy OR R

C-;"/a INDIRESULTE
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117 _Slistaixxabie'.faslﬁon'. incudes :° . WYL/ Veursudn e o
N @ .. Environment friendly material |

(i1) Sbciaﬂy responsible‘ method |

(ii1) Fast changing fashion

(iv) Product that could last multiple seasons

Code :

(1) (), (i) and (iii) are correct

2) (i), _'(ﬁi) and (iv) are correct

(3) (@, (i) and (iv) are correct

(4) (1), (i) and (iv) are correct

yel Hyw # whafwa ¥

(@) watexer #gel weElh
(i) GEITeS o9 ¥ IAERN &

(iify @ iy ¥ wRaffa a9 aw Hw
(iv) SEE S §5 HIAH 9P TW qH
& - .

M) @, i) T (i) T ¥

@) (i), (i) qam (iv) T ¥

(B) (@), (i) v (v) @@ ¥

@ @), (i) 9 Gv) w& ¥

ECSS_A] CCCCCCCCCCCCC . [Contd_"
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The most important chemical group in cotton polymer;iiss =~ - -
(1) amide group (2)' hydroxyl group
(3) carboxyl eroup | (4) sulfuric group

ﬁ‘l‘muﬁwﬁmqﬁ{ﬁmﬂﬁﬁgﬁ%

() wwss g Q) eETREw g9

() weiREd T @ wfw I

The srecial marriage Act was formulated in —

SZ,

< (1)~ 1947 ‘@ 1950

120

EC53 A

(3) 1954 __ @) 1964
fadm e ofubrem =g A g T
(1) 1947 | @ 1950

() 1954 Z'(éi) 1964

N. L. H. F. W. works in the ﬁeid .6f -
(1) Special Education (2) Health Sector

(3) Women Empowerment (4) Rural Development

U7 9K, U9 T% S (N. L H. F. W.) &1 & a5 & -

(1) fyow e (2) w@reE &
(3) wkwr wafro °© @ wiv R
(Z)NDIRESULTE
| 47 ' [ Contd...
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121 ‘'Teaching any -class, student's>needs: ang interest also have to be bo;\_
mind. Which of the following dimensions cover this aspect ?

(N Psychological dimension (2)  Philosophical dimension
(3) Evaluation dimension 4 Methodological dimension

oW ¥ v &0
(1) e emm (2) e sy
() T=™iwT eran 4) =Byl s

122 Which of the following statements ig not correct in reference o educational
~ psychology 7

(@ As a science of soul
(b)  As a science of logic
(€} As a science of' mind
(d As a science of consciousness

Select the answer using the codes given below -
(1) (2) and (d) @ () and ()

3) Only (a) @) Only (b
ﬁw%ﬁgaﬁ@rﬁmqﬁﬁaﬁ%ﬁaﬁﬁﬁwmﬁmﬁ'&ﬂﬁ%?
@ ok few % ey ¥ |

®) T F R ¥ oy A

© RaF ¥ fmm ¥ oy A

@ < F Rem ¥ oy
ﬁwﬂ#v&%ﬂﬁ#a&?mwmm:

W @ o (@) @ ) d @

3) ¥ (a) . @ = ()

Al (#INDIRESULTE [Conta.
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The process in which the presence

124

activeness is not essential, is called —

(@) Teaching . _ (b) Instruction

(¢} Training _ (d) Indoc;tn'nation
Select the correct answer using the codes given below :
(1) Only (a) 2) Oaly (b)h

G) ) and (o) @ (2 and (d)

(@ Py b) s

© wheor @ whwre

e Rt m sl @ wd TG B THT Ffg

(1) & (2 - 2) wEw (b)

® O e L ® @

In teaching learning process 'the variable which is responsible for bringing

change is called -

(1) Teacher (2) Learner
(3) Curriculum @) Tea;:hing Strategies
Rre—aftrm whpar ¥ TRE B eRadr W e &
(1) Pes ) e

() ureEEyt @) frar sy

 EC53 A C:?/_.j INDIRESULTE [ Contd...
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125 Which of the following is not a teac ing behaviour ?

(1) Lassisfara teaching (2)  Autocratic teaching
() Remedial teaching (9 Democratic teaching
LI L g e G SE

(1) sy Ry Ry 2) Wm_&w
@) e fego () vt fimmor

126 A successfyl teacher is one, who is —
.(a)_ Compassionate and disciplinarian
(®  Quiet and reactive
(c) Tolerant and dominating
(d) Passive and active
Select the answer using the codes given above
(1) (a) and (b) @) (©) and (d) |
() Only (a) (#) Only (¢
W@ o0 e a5 ¥ oo, @

@ Y Td STy

RORE R o -

© wEle ud yyeed

@ e oo wh
mﬂ#v&aﬁﬁ#aﬁaﬁ?wmaﬁﬁq~
1) (@ & @) @ (0 & (@
() ¥ (a) @) & (o)

ECS3 A] @mnmﬂsuua [ Contd...
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Block in the path of learning in the period caused due to —
(@) Mental fatigue

(b) Loss of interest

} (¢) Unfavorable enyironment
//:i: Select the answer ﬁ'am the codes given below :
o |
E (1) Only (a)
0 @wo
1 \ 3) (b) and (c)

- @ @ ) and ©
| A F T F vwEE F ey B oHwor X -
(@) wFi® e
(b) TR B T B
() whge @
9 Rz 7 @ W v @ 7w B -
W ¥ @
@ @ o @)
@ ® @ ©

@ (), ®) 7 (©)

%INDIRESULTE

YOUR SUCCESS PARTHNER
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128 Which of the following is 2 cognitive theory of learning ? x i
3] Classwal conditioning theory N
(2) Sign Learning Theory
(3) Field Theory

(4) Reinforcement theory
ﬁw%%ﬁﬁﬁﬁ?mﬂﬁwmmmﬁ!m%?'
M) wggfee sufer Rrar

@ W e -

(3) @hg frgrg

@) v Ry

129 An exchan
ge of facts, ideas, opin; i o
is called - | pinions or emotions by two or more persons

(1) Teachin
& (2) Communication

(3 ) IﬂfOI‘mation ; ' (4) Le L.
Wy at:mng

SR B o JE— .
w, F + )
] | . ﬁam,erﬁwa’rmmaavﬂm

(I) ﬁm ' (2) ‘:n:ﬂ-w
G) @ iy
ECS3 A] O ¢)\NDIRESULTE
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Thinking and reasoning powers begin to grow in the child at the age
of —

(I 1.5 to 2 yrs 2 2.51t0 3 yrs

;’/ B) 310 4 yrs (4)  After 4 yrs |

§' (1) 1.5 2 7§ @ 25% 3¢
G) 34 ‘) 4oF F yyg

_; 131 For a teacher lesﬁon planning is important to —
(1) achieve ins-tmctional objectives
(2) maintain interest among students
(3) keep students busf,r
(4) show his own ability
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132 Leaming that resyjts from th

(1) Operans Conditioning
2) Respondent conditioning
3) Classical Conditioning

{4) Positive conditioning

133 Which of the foﬂowing is not a behavioyrg] disorder 9
(1) Escape ()  Hiusion
3) Failure

“) Psycho—neurosis
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(1) Computer Engineer - 2) Programme Writer "‘i\ .

(3) System operator 4)  Computer operator
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137 Which of the following is the example of non-verba] COmmunjcation ?

(1) touch (2) letter
(3) péste} (4)  newspaper
PR A R RELEC UL T pe— T ?
I wm @ w
@) R @ Ry

include -
(1) Spoken word © (2) Signs

(3)  Gestures @) Al of the above
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o /ith the help of Radio, Television and Tape Recorder, a teacher can reach
§ he doorstep of each and every student at a lower cost'. This statement

indicates towards the approach —

(1) Hardware Approach (2) Integrated Approach

(3) System Approach (4) Software Approach

W, Mfem o TaRER N woEa ¥ w R w ww R B
R W F A A G gEA Y 9e wmET R Surm &) ol wda

W ¥ -
(1) T o @ e s
() fen sarm | (4) I TIEm

Which of the foliowing is not a part of designing system approach ?
(1) Identification of entry-behaviour of leamer

(2) Analysis of objectives

(3) Selecting appropriate media

(4) Organizing remedial instruction -

Brafifea & & @ @ yoreh o A evar @A W § 7
(1) Redl =1 9 sEER wwEEE

(2) ey @t fasgmor

(3) SR WEH B w9

(4) STERNw Ly W wEeT
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Which of the following audio-visual ald is the best example to
learning structure of multiple discrimination ?
(1) Radio (2) Still picture

(3) Television (4) Record player

ﬁwﬂﬁﬁﬁmmqwmaﬁmmmﬁwwﬁ
W W1 IAEWT & 7

(1) sy (2) €

3) Tefye™ @ T w3

Which of the following is not a basic assumption of Computer Assisted
Instruction ?

(1) Instruction for a number of learners at a time
(2) Automatic recording of the learner's performance
(3) Imteraction between teacher and learner

(4) Variety in the use of techniques

Prafafes & @ B9 @ T FEERI-T SR Ao wgel T8 7
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& Information and communication Technology (ICT) includes —

Internet
Educational television
E-mail

All of the above
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144 The concept of emotional intelligence does not involve the ability to —

(D
2
€)
(4)

Understand emotions
Regulate emotions
Arouse emotions

Appraise and express emotions
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145 If adolescent learners are exposed to frequent rejection and teq, )
parents and teachers it leads to —

(1) Inferiority feelings
(2) Brain disorders
3) Feeling of fear
(4) Mental retardation

afr frgik e, s 9 AW 30 SR R T 9 Y
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146 A teacher who takes a Constructivist approach to teaching - learning would
encourage learner to —

(1) Solve problems

(2) Memorize facts

(3) Recognize events

(4) Collaborate v;ith others
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'-{_.;I ¥ "Learning takes place through

statement is related with —

(1)  Insight theory of learning
©) Reinforcement theory

() Conditioned Response theory
(4) Trail and Error theory
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148 The primary accountability of a teacher towards a learner is —

(@) Intellectual development

(b) Allround development

(c) Physical development

(@ Value development

Select the answer using the codes : _
1) (@ and () 2) (b) and (c)
(3) Ounly (d) ) Only (b)
wﬂmﬁﬁm@%uﬁrmﬁmmﬁé’r%~
@ e fom

®) wablvr g S " 'H“*
© RE R |
@ ™ frw T
@W#WWWWW— 5w
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149 Any psychological disturbance may lower the efficiency and effect\ ,‘
of an adolescent learner and can produce — L

(1) A temporary underachievement pattern
(2) A break-up with a close friend
(3) Maladjustment with family members

4) All of the above
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150 According to Gagne most instruction in school subJects 1s concerned with
the learning and use of -

(1) Concepts and rules
(2) Achievement

(3) Generalization

(4) Feed-back
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